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. §arctan%
Cy(z) = (@ +1)2+2

.0se -1<a<0,1sea=0,2sea>0

2+ 9% = 5 + 2k7 punti di massimo, 22 +y? = %77 + 2k punti di minimo, (0,0) minimo.

.m= \/g assunto in (+1,1) e M = /3 assunto in (0, 1)

. L =3+sinh3
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COMPITO 2

1.
2.
3.

N

8.

éarctan%
y(@) = (2" +1)% +3
Ose —1<a<0,1sea=0,2sea>0
2?4+ y? = 5 + 2k7 punti di massimo, 22492 = %77 + 2k7 punti di minimo, (0,0) minimo.
m = \/; assunto in (£1,1) e M = \/g assunto in (0, 1)
L =5+sinh5
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COMPITO 3

1.
2.
3.

N

8.

iarctan%
y(@) = (2 +1)* +4
Ose -1<a<0,1sea=0,2sea>0

2?4+ y? = 5 + 2k7 punti di massimo, 22+ 2 = %w + 2k7 punti di minimo, (0,0) minimo.

m= \/1;7 assunto in (£1,1) e M = % assunto in (0, 1)

L=7+4sinh7
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COMPITO 4



. %arctan%
cyl) = (22 +1)* +5
.0se —-1<a<0,1sea=0,2sea>0

a4y’ = 5 + 2km punti di massimo, 22+ 2 = %71' + 2k punti di minimo, (0,0) minimo.

5. m = /3] assunto in (£1,1) e M = /3 assunto in (0,1)
6. L =9 +sinh9
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COMPITO 5
1. éarctané

2.

3.

y(z) = (¢ +1)* 46

Ose -1<a<0,1sea=0,2sea>0

4. 2% 42 = 5 + 2km punti di massimo, 2?42 = %7? + 2k punti di minimo, (0,0) minimo.
5. m = /% assunto in (£1,1) e M = /3 assunto in (0,1)

6. L =11+sinh11

7. a= % el = %2.

8. 6

COMPITO 6

1.

2.

3.
4.

%arctan%
y(z) = (22 +1)2+7
Ose —1<a<0,1sea=0,2sea>0

2?2+ 9% = 5 + 2km punti di massimo, 2?42 = %71' + 2k7 punti di minimo, (0,0) minimo.

.m= \/7;1 assunto in (£1,1) e M = /2 assunto in (0,1)
. L=13+sinh13

_1 _ 2
a—7el—7.

.7




